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2. Tind the distanté between the points (=S, 7y and (=1, 3

¥ ¢ TP and TQ are the tangents to a circle with centre O, so that
v /:‘

N
ZPOQ = 110°. Find angle PTQ.

4,  If sec 4 A = cosec (A-20), where 4A is an acute angle, find the

(&) _
‘ value of A. 7 ¢

g

S®Use BEuclid’s division algorithm lo find the H. @ ol 86/ and259.

6. Ay Find the 31st term of an A. P. whose |Ith term i1s 38 and 16th term

(wis 73. I3

) .|J|J.

7. Solve the linear equation by the cross-multiplication method :

f@ ; ox — 3y =8

3 = 3y ES

N\

U_/

(B». Five years ago, Nuri was thrice as old as Sonu. Ten years later Nuri

will be twice as old as Sonu. How old are Nuri and Sonu ?

O E e 02 _ 9 — 12 by 12 - 3
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13. E and F are points on the sides PQ and PR respectively of APQR
where PE = 3.9 em, EQ = 3 ¢cm. PF = 3.6 ¢m and FR = 2.4 cm.

Prove that EF | QR.

Or

In figure, if AABE AACD, show that AADE ~ AABC.

11

C
14. Diagonals of a trapezium ABCD with AB || DC intesect each other
at the point O. It AB = 2 CD. find the ratio of the areas of triangles

AOB and COD.
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